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FX FAEE 2 56 28.00
X EBEE 3 37 12.33
PR EEELEEEE 8 58 7.25
hX  EEEESEEE 6 24 4.00
PR EEEEE 3 3 1.00
HX  EILEE 2 2 1.00
X | SHAEBET 2 34 17.00
BX  REEEE 5 156 31.20
B | ESSEE 1 1 1.00
BX | EEEE(1,2) 2 39 19.50
ZERR BRET 1 2 2.00
ZEAR | ELREE 1 2 2.00
ZEAX | LREE 3 39 13.00
ZEAR E-LRET 1 29 29.00
ZERRX HILEE 1 1 1.00
RET | SREEE 1 2 2.00
AT FRTREE (1) 4 12 3.00
RET  EoRREEE (2 ) 1 3 3.00
AT |E=FRTREE(3) 1 1 1.00
BHE  FEEEE 1 2 2.00
BHEET EEEE 1 9 9.00
REE]  REEMEE 5 31 6.20
HEwH |HEHEE 28 24 0.86
R KRITEE 4 0 0.00
R EREE 5 1 0.20
RITH | HREE 2 2 1.00
2% | STEE 4 0 0.00
2 BEEE 2 13 6.50
S | EREE 3 26 8.67
S BILEE 7 1 0.14
S WEEE (1) 1 0 0.00
2% | MPEE (3~5) 11 1 0.09
= REEE 6 0 0.00
2% LEE 2 1 0.50
St MEEE 3 6 2.00
HLET | BHEE 13 8 0.62
HLET HEFEE 23 5 0.22
HLBT |PEEE 14 5 0.36
HLET BEEET 4 2 0.50
MEHR  ATFLEE 2 2 1.00
MRS | EoATIWEE 13 0 0.00
MESR EOBEE 5 2 0.40
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ET RHEE(10) 3 4 1.33
E™ BHAEE(1) 2 0 0.00
ZRM | RE{E=E 2 1 0.50
ZRW |RZH{EE 3 0 0.00
=R O (BR2AEE(11) 4 0 0.00
=W tEE=E 2 2 1.00
ZRWm  mEMEE 8 0 0.00
=R |A—1E=E 6 0 0.00
EBEm DTHAEEE(2~4,5) 1 0 0.00
BE™T ®SEAEE 1 0 0.00
BE™M |BEE=E 1 0 0.00
BiEm | t4E=E 2 0 0.00
BEw |/MHEEEE 1 0 0.00
BT | EE{EE 2 3 11.50
|ILTH | REREE ) 3 0.60
BT EEEE 4 3 0.75
BT RREE ) 2 0.40
‘LT EAEE 3 1 0.33
BT | ERKEE 2 0 0.00
e piEe 3 0 0.00
Bt BARES 2 0 0.00
ZRWm | REE=E 3 1 0.33
=ZRM BZRERE 4 0 0.00
=Rkt | JURE=E 6 2 0.33
ERT | AH{EE 4 0 0.00
ERT | AH EEEE S 1 0.20
ERW | AR AREE 4 2 0.50




